Manatee County Government Agenda

back to agenda composer

help

Item Author: View Agenda Item

Agenda

September 10, 2013 - Regular Meeting

Category

B. CONSENT AGENDA

Sub-Category

Financial Management

Approval Path

FM (Purchasing-Dennis)

Subject

IFB #13-1121CD, 51st Avenue East at 15th Street East Intersection Improvements

Briefings

None

Contact and/or Presenter Information

Contact: Chris Daley, Purchasing Division, Ext. 3048.

Presenter: Eyra Cash, Engineer II, Ext. 7344, and Jeff Streitmatter, Project Management Division Manager, Ext 7335.

Action Requested

Authorization to award IFB #13-1121CD, 51st Avenue East at 15th Street East Intersection Improvements, to the lowest, responsive, and responsible bidder, Gator Grading & Paving, LLC of Palmetto, FL, for a total base bid of \$1,593,281.56 (Bid "B", 150 calendar days), and authorize the County Administrator, or designee, to execute the Agreement and accept and date the Performance and Payment Bonds.

Adoption of Budget Amendment Resolution B-13-068/3.

Adoption of Budget Amendment Resolution B-13-068/6.

Enabling/Regulating Authority

Manatee County Code of Laws.

Background Discussion

The Work consists of modifying the current intersection at 51st Avenue East and 15th Street East in Bradenton, Florida, by providing the following: left turn lanes in both directions on 51st Avenue East; relocation of 15th Street

Court East from present location approximately 200 feet east to new location; construction of retention pond; construction of a pedestrian bridge; construction of a new sidewalk from 301 Blvd/15th Street East to existing sidewalk at 18th Court East; and construction of water and sewer utility relocations. Formal, competitive sealed bid procedures were followed resulting in a total of three (3) bidders submitting a sealed bid for consideration.

 Manatee County
 Bid A (180 days)
 Bid B (150 days)

 Gator Grading & Paving
 No Bid
 \$1,593,281.56

 Westra Construction
 \$1,932,641.76
 No Bid

 Superior Asphalt
 \$2,095,137.01
 \$2,135,137.01

On August 19, 2013, a memorandum was received from Public Works Department recommending award to Gator Grading & Paving, LLC of Palmetto, FL 34221, for a total bid of \$1,593,281.56 with a 150 calendar day completion time (Bid "B").

In addition to the funding sources indicated below, two Budget Amendment Resolutions (B-13-068/3 and B-13-068/6) appropriating \$270,110.00 to the project will be presented to the Board of County Commissioners on September 10, 2013. Budget Amendment Resolution B-13-068/3 represents a transfer of \$130,000.00 from the local option reserves fund to the Capital Improvement Project Fund (6029960). Budget Amendment Resolution B-13-068/6 represents a transfer of \$105,000.00 of unused funds from various water projects to the Capital Improvement Project Fund (6029970) and a transfer of \$35,110 of unused funds from various sewer projects to the Capital Improvement Project Fund (6029980).

County Attorney Review

Not Reviewed (No apparent legal issues)

Explanation of Other

Reviewing Attorney

N/A

Instructions to Board Records

Original to Board Records

Copy to:

Gator Grading & Paving, LLC, 2704 105th Street East, Palmetto, FL 34221 (novakm@gatorgap.com).

Gwen Richards (<u>gwen.richards@mymanatee.org</u>) and Kathleen Casey (<u>kathleen.casey@mymanatee.org</u>), Public Works Department; Chris Daley (<u>chris.daley@mymanatee.org</u>), Purchasing Division

Cost and Funds Source Account Number and Name

The funding source for this Agreement is Road Impact Fees Dist NE and Utility 2010C Recovery Improvement Bonds -3956029960-534000/6029960-0004 and 3076029960-534000/6029960-0004- 301 Blvd-RdWide-US41/53E01

Amount and Frequency of Recurring Costs

N/A

Attachments: (list)

DE POE

Gator Grading Contract.pdf 13-1121CD Tabulation.pdf

Close Edit Delete

Chris Daley - () Role: Item Author log out

Version: 1.2.1.3 - 1.2.7.5

© 2002–2013, Idea Integration Corp. All Rights Reserved

TABULATION INTERSECTION IMPROVEMENTS IFB #13-1121CD- 51st AVENUE EAST AT 15TH STREET EAST INTERSECTION IMPROVEMENTS

				Gator Grading & Paving Westra Construction	Westra Construction	Superior Ashphalt
	BID SUMMARY			2704 105th St East Palmetto, FL 34221	1263 12th Ave. E. Palmetto, FL 34221	P.O Box 2489 Oneco, FL 34264
ITEM NO.	DESCRIPTION	UNITS QTY.	QTY.	TOTAL BID PRICE	TOTAL BID PRICE	TOTAL BID PRICE
-	Bid "A" Based on Completion Time of 180 Calendar Days	ST	τ-	No Bid	\$1,932,641.76	\$2,095,137.01
2	Bid "B" Based on Completion Time of 150 Calendar Days	ST	-	\$1,593,281.56	No Bid	\$2,135,137.01
	Acknowledge Addendum #1			Yes	Yes	Yes
	Bid Bond			Yes	Yes	Yes

Keyed and Checked By

8/9/2013

Date

Chris Daley-CPPB, Contract Specialsit

IFB #13-1121CD- 51st AVENUE EAST AT 15TH STREET EAST INTERSECTION IMPROVEMENTS

Westra Construction | Superior Ashphalt | P.O Box 2489 | P.O

	Bid "A" E	Bid "A" Based on Completion Time of 180 Calendar Days			1263 12th Ave. E. Palmetto, FL 34221	E. 221	P.O Box 2489 Oneco, FL 34264	4
PAY ITEM NO.	FDOT ITEM NUMBER	DESCRIPTION	UNITS	QTY.	BID PRICE PER UNIT	TOTAL BID PRICE	BID PRICE PER UNIT	TOTAL BID PRICE
		ROADWORK						
-	101-1	MOBILIZATION	rs		\$272,000.00	\$272,000.00	\$212,420.00	\$212,420.00
2	102-1	MAINTENANCE OF TRAFFIC	rs	-	\$210,000.00	\$210,000.00	\$132,500.00	\$132,500.00
က	104-10-3	SEDIMENT BARRIER (INCL'S SILT FENCE AND SYNTHETIC BALES)	L J	0009	\$1.60	\$9,600.00	\$1.70	\$10,200.00
4	104-11	FLOATING TURBIDITY BARRIER	L I	06	\$14.00	\$1,260.00	\$27.40	\$2,466.00
5	110-1-1	CLEARING & GRUBBING	AC	2	\$23,500.00	\$117,500.00	\$16,790.00	\$83,950.00
9	110-4	REMOVAL OF EXISTING CONC. PAVEMENT (EXIST. SIDEWALK & CONC. DRIVES)	SY	360	\$8.60	\$3,096.00	\$12.45	\$4,482.00
2	110-7-1	MAILBOX, F&I SINGLE	EA	7	\$130.00	\$910.00	\$350.00	\$2,450.00
8	120-1	REGULAR EXCAVATION (PINE ST. EXIST. BASE AND SUB-BASE TO BE REMOVED)	ζ	300	\$6.50	\$1,950.00	\$24.90	\$7,470.00
6	120-1	REGULAR EXCAVATION (INCLUDES PONDS)	CV	4731	\$6.75	\$31,934.25	\$33.75	\$159,671.25
10	120-5	EMBANKMENT (EXISTING PINE STREET)	C	300	\$1.70	\$510.00	\$49.10	\$14,730.00
7	120-6	EMBANKMENT (REGULAR)	ζ	2400	\$1.70	\$4,080.00	\$36.50	\$87,600.00
12	285-706	6" OF OPTIONAL BASE GROUP 4	SY	1361	\$9.55	\$12,997.55	\$21.80	\$29,669.80
13	285-709	10" OF OPTIONAL BASE GROUP 9	SY	6203	\$14.10	\$87,462.30	\$30.25	\$187,640.75
14	327-70-1	MILLING EXIST ASPH PAVT, 1 " AVG DEPTH	λS	5352	\$3.75	\$20,070.00	\$2.95	\$15,788.40

	Bid "A"	Bid "A" Based on Completion Time of 180 Calendar Days	,		1263 12th Ave. E. Palmetto, FL 34221	E. 221	P.O Box 2489 Oneco, FL 34264	4.
PAY ITEM NO.	FDOT ITEM NUMBER	DESCRIPTION	UNITS	QTY.	BID PRICE PER UNIT	TOTAL BID PRICE	BID PRICE PER UNIT	TOTAL BID PRICE
15	MC-334	2" TYPE S-I ASPHALT	NT	735	\$112.00	\$82,320.00	\$99.50	\$73,132.50
16	MC-337	1" TYPE S-III ASPHALT	N N	699	\$125.00	\$83,625.00	\$111.00	\$74,259.00
17	MC-001	12" TYPE B STABILIZATION (LBR 60)	SY	6563	\$8.60	\$56,441.80	\$17.90	\$117,477.70
18	MC-002	6" OF STABILIZED SUB-BASE-NEW PINE ST. (LBR 60)	SY	1453	\$5.55	\$8,064.15	\$10.60	\$15,401.80
19	MC-003	GRATE INLET MC 201.1 202.4	EA	4	\$2,800.00	\$11,200.00	\$2,475.00	\$9,900.00
20	MC-004	THROAT INLET MC STD. 202.1,202.3,202.4	EA	-	\$3,795.00	\$3,795.00	\$3,670.00	\$3,670.00
21	MC-005	JUNCTION BOX. BLOCK BOX -MC STD. 202.1, 202.4,203.1	EA	,	\$9,950.00	\$9,950.00	\$3,054.00	\$3,054.00
22	MC-006	INLETS (CURB) -MC STD. 202.1, 202.2,202.3,202.4,203.2	EA	5	\$3,075.00	\$15,375.00	\$3,047.00	\$15,235.00
23	MC-007	INLETS (CURB) -MC STD. 202.1, 202.2,202.4,203.2	EA	2	\$3,225.00	\$6,450.00	\$2,770.00	\$5,540.00
24	MC-008	JUNCTION BOX. BLOCK BOX- MC STD. 202.1, 202.5,203.1	EA	4	\$10,150.00	\$40,600.00	\$4,430.00	\$17,720.00
25	MC-009	GRATE INLET-PROP. CONCRT. BLOCK BOX -MC STD. 202.1, 202.5	EA	8	\$2,850.00	\$22,800.00	\$2,798.00	\$22,384.00
26	0400-1-2	ENDWALL 15" PIPE	СУ	-	\$1,300.00	\$1,300.00	\$1,102.00	\$1,102.00
27	0425 -1563	INLETS, DT BOT, TYPE F, J BOTTOM <10'	EA	Ψ-	\$4,750.00	\$4,750.00	\$5,653.00	\$5,653.00
28	0425- 2 91	MANHOLE, J-8, <10'	EA	-	\$4,050.00	\$4,050.00	\$6,301.00	\$6,301.00

	Bid "A" I	Bid "A" Based on Completion Time of 180 Calendar Days			Westra Construction 1263 12th Ave. E. Palmetto, FL 34221	Cuon E. 221	Superior Asripitati P.O Box 2489 Oneco, FL 34264	34 34
PAY ITEM NO.	FDOT ITEM NUMBER	DESCRIPTION	UNITS	QTY.	BID PRICE PER UNIT	TOTAL BID PRICE	BID PRICE PER UNIT	TOTAL BID PRICE
29	0425-1529	INLETS, DT BOT, TYPE C, MODIFY	EA		\$3,070.00	\$3,070.00	\$2,525.00	\$2,525.00
30	430-173-101	PIPE STORM SEWER CULV (RCP)(15")	L J	17	\$65.00	\$1,105.00	\$85.45	\$1,452.65
31	430-173-101	PIPE STORM SEWER CULV (RCP)(18")	Ħ	837	\$66.00	\$55,242.00	\$67.20	\$56,246.40
32	430-174-201	PIPE STORM SEWER CULV (ERCP) (12"X18")	ㅂ	278	\$55.00	\$15,290.00	\$49.25	\$13,691.50
33	430-174-102	PIPE STORM SEWER CULV (ERCP) (30")	Ħ	1478	\$89.00	\$131,542.00	\$78.50	\$116,023.00
34	430-982-125	MITERED END SECTION-RCP- ROUND/18"	EA	23	\$1,070.00	\$2,140.00	\$1,272.00	\$2,544.00
35	430-984-623	MITERED END SECTION- RCP ROUND 12"X 18"	EA	4	\$1,085.00	\$4,340.00	\$1,515.00	\$6,060.00
36	515-1-2	PEDESTRIAN BICYCLE RAILING, ALUMINUM ONLY 42" TYPE 1	Ħ	91	\$75.00	\$6,825.00	\$75.00	\$6,825.00
37	520-1-10	TYPE F CURB & GUTTER	4	1000	\$17.80	\$17,800.00	\$13.70	\$13,700.00
38	520-3	VALLEY GUTTER, CONCRETE	H.	207	\$27.20	\$5,630.40	\$24.75	\$5,123.25
39	522-1	SIDEWALK CONCRETE 4"	SY	1034	\$30.25	\$31,278.50	\$34.00	\$35,156.00
40	522-2	SIDEWALK CONCRETE 6" THICK (DRIVEWAYS)	SY	099	\$38.90	\$25,674.00	\$35.25	\$23,265.00
41	522-3	BUS BOARDING PAD-CONCRETE	SY	30	\$46.50	\$1,395.00	\$35.30	\$1,059.00
42	522-4	BUS SHELTER PAD-CONCRETE	SY	30	\$57.00	\$1,710.00	\$35.25	\$1,057.50

TABULATION
IFB #13-1121CD- 51st AVENUE EAST AT 15TH STREET EAST INTERSECTION IMPROVEMENTS
[Westra Construction | Superior Ashphalf

	 	11 B # 13-1 12 10D- 313 AV CIVOL CAST AT 1311 311 1511	=======================================			SEO LIGHT HALL		
	Bid "A" I	Bid "A" Based on Completion Time of 180 Calendar Days	0		Westra Construction 1263 12th Ave. E. Palmetto, FL 34221	ction E. 221	Superior Ashphalt P.O Box 2489 Oneco, FL 34264	alt 14
PAY	EDOTITEM	DESCRIPTION	UNITS	OTY.	BID PRICE	TOTAL BID	BID PRICE	TOTAL BID
N N	NUMBER			,	PER UNIT	PRICE	PER UNIT	PRICE
43	530-3-3	RIP RAP-RUBBLE, BANK AND SHORE	Ĭ.	е	\$170.00	\$510.00	\$550.00	\$1,650.00
44	536-1-2	GUARDRAIL	Ŧ.	19	\$45.00	\$855.00	\$95.00	\$1,805.00
45	570-1-2	PERFORMANCE TURF (BAHIA SOD)	SY	5592.15	\$2.40	\$13,421.16	\$3.50	\$19,572.53
46	MC-011	MIAMI CURB&GUTTER	Ŧ.	153	\$19.00	\$2,907.00	\$13.70	\$2,096.10
		SUBTOTAL (ROADWORK ONLY)				\$1,444,826.11		\$1,631,720.13
		PROPOSED 6" WATERLINE RELOCATION FOR ROAD PROJECT						
47	MC-012	6" DI WATERLINE (CL 350) DIRECT BURY	LF	265	\$42.10	\$11,156.50	\$41.30	\$10,944.50
48	MC-013	6" X 24" TAPPING SLEEVE WITH VALVE	EA	1	\$6,300.00	\$6,300.00	\$4,945.00	\$4,945.00
49	MC-014	DI FITTINGS	LB	250	\$12.50	\$3,125.00	\$6.50	\$1,625.00
20	MC-015	REPLACE WATER SERVICE(SINGLE, LONG)	F	9	\$1,955.00	\$11,730.00	\$2,320.00	\$13,920.00
51	MC-016	REPLACE WATER SERVICE(SINGLE, SHORT)	F	80	\$1,540.00	\$12,320.00	\$1,685.00	\$13,480.00
52	MC-017	RELOCATE 2" HDPE WATERLINE (C 906) DR 9	F	30	\$63.25	\$1,897.50	\$37.35	\$1,120.50
53	MC-018	ADJUST VALVE BOX	EA	7	\$235.00	\$1,645.00	\$425.00	\$2,975.00
54	MC-019	RELOCATE/ADJUST METER BOX	EA	3	\$235.00	\$705.00	\$375.00	\$1,125.00
99	MC-020	REMOVE FIRE HYDRANT ASSEMBLY	EA	1	\$785.00	\$785.00	\$360.00	\$360.00
26	MC-021	FIRE HYDRANT ASSEMBLY	EA	1	\$5,050.00	\$5,050.00	\$4,865.00	\$4,865.00

TABULATION

IFB #13-1121CD- 51st AVENUE EAST AT 15TH STREET EAST INTERSECTION IMPROVEMENTS	EAST INTERSECTION II	MPROVEMENTS
	Westra Construction	Superior Ashphalt
Bid "A" Based on Completion Time of 180	1263 12th Ave. E.	P.O Box 2489
	10000	LOCKO IT CALCO

		Calendar Days			Palmetto, FL 34221	221	Oneco, FL 34264	44
PAY ITEM NO.	FDOT ITEM NUMBER	DESCRIPTION	UNITS	ату.	BID PRICE PER UNIT	TOTAL BID PRICE	BID PRICE PER UNIT	TOTAL BID PRICE
22	MC-022	REMOVE 6" WATERLINE	LF	260	\$20.00	\$5,200.00	\$12.70	\$3,302.00
28	MC-023	6" HDPE FORCE MAIN AND BYPASS (C 906) DR 11	F	270	\$94.00	\$25,380.00	\$29.65	\$8,005.50
69	MC-024	RELOCATE 6" PVC SEWER SERVICE LATERALS	LF.	150	\$55.00	\$8,250.00	\$36.20	\$5,430.00
09	MC-025	ADJUST MANHOLE LID & COVER	EA	8	\$350.00	\$2,800.00	\$665.00	\$5,320.00
61	MC-026	CONNECT TO EXISTING WATERLINE	EA	-	\$2,600.00	\$2,600.00	\$656.00	\$656.00
62	MC-027	ARV IN MANHOLE (SANITARY)	EA	-	\$2,655.00	\$2,655.00	\$3,980.00	\$3,980.00
63	MC-028	6" GATE VALVE W/BOX	EA	-	\$1,250.00	\$1,250.00	\$1,105.00	\$1,105.00
64	MC-029	RELOCATE LIFT STATION ELECT. PANEL & SERVICE	ST	<u>.</u>	\$17,000.00	\$17,000.00	\$15,065.00	\$15,065.00
		SUBTOTAL (PROPOSED 6" WATERLINE RELOCATION FOR ROAD PROJECT ONLY)				\$119,849.00		\$98,223.50
		SIGNALIZATION						
65	555-1-1	DIRECTIONAL BORE (LESS THAN 6")	٦.	128	\$22.50	\$2,880.00	\$18.55	\$2,374.40
99	630-1-12	CONDUIT (F & I) (UNDERGROUND)	F.	442	\$5.65	\$2,497.30	\$4.75	\$2,099.50
29	632-7-1	CABLE, SIGNAL (F&I)	<u>a</u>	-	\$4,567.00	\$4,567.00	\$4,105.00	\$4,105.00
89	635-1-11	PULL & JUNCTION BOXES (F&I) (PULL BOX)	EA	12	\$650.00	\$7,800.00	\$315.00	\$3,780.00
69	639-1-22	ELECTRICAL POWER SERVICE (UNDERGROUND)	AS	-	\$2,875.00	\$2,875.00	\$790.00	\$790.00
70	639-2-1	ELECTRICAL SERVICE WIRE (F&I)	LF	415	\$1.40	\$581.00	\$1.60	\$664.00

OTAL BID PRICE PER UNIT PRICE BID PRICE PER UNIT PER UNIT 30.00 \$710.00 \$1 30.00 \$210.00 \$2 3,680.00 \$25,185.00 \$2 3,680.00 \$25,185.00 \$2 3,680.00 \$47,050.00 \$2 3,680.00 \$47,050.00 \$2 3,680.00 \$2 \$2 3,680.00 \$2 \$2 3,680.00 \$2 \$2 3,680.00 \$2 \$2 3,680.00 \$2 \$2 3,680.00 \$2 \$2 3,715.00 \$2 \$2 3,715.00 \$2 \$2 3,715.00 \$2 \$2 3,715.00 \$3 \$3 3,715.00 \$3 \$3 3,715.00 \$3 \$3 3,715.00 \$3 \$3 3,715.00 \$3 \$3 3,715.00 \$3 \$3 3,715.00 \$3 \$3 3,715.		Bid "A"	Bid "A" Based on Completion Time of 180 Calendar Days			1263 12th Ave. E. Palmetto, FL 34221	E. 221	P.O Box 2489 Oneco, FL 34264	46
PRESTRESSED CONCRETE POLE EA 1 5730.00 5730.00 5710.00	PAY ITEM NO.	FDOT ITEM NUMBER	DESCRIPTION	UNITS	ату.	BID PRICE PER UNIT	TOTAL BID PRICE	BID PRICE PER UNIT	TOTAL BID PRICE
SIGNAL POLE, PEDESTAL (FB) EA 6 \$845.00 \$50.70.00 \$835.00	71	641-2-12	PRESTRESSED CONCRETE POLE (F&I) (TYPE P-11 SRV. POLE.)	EA	,	\$730.00	\$730.00	\$710.00	\$710.00
MAST ARM (F&I) (WS -130) (SING. EA 1 \$23.680.00 \$23,680.00 \$25,185.00 MAST ARM (F&I) (WS -130) (SING. EA 1 \$45,100.00 \$45,100.00 \$47,050.00 MAST ARM (F&I) (WS -130) (DBL. EA 1 \$45,100.00 \$47,000.00 E60-1-311	72	646-1-11	SIGNAL POLE, PEDESTAL (F&I)	EA	9	\$845.00	\$5,070.00	\$835.00	\$5,010.00
MAST AFIN (F&I)WS-130)(DBL. EA 1 \$45,100.00 \$45,100.00 \$47,050.00	73	649-31-202	MAST ARM (F&I) (WS -130) (SING. ARM) (W/O LUM.) (40')	EA	-	\$23,680.00	\$23,680.00	\$25,185.00	\$25,185.00
TRAFFIC SIGNAL (F&I) (3 SECT) (1 AS 5 550.000 55,100.000 5780.000	74	649-31-213	MAST ARM (F&I)(WS -130)(DBL. ARM) (W/O LUM.)(36-70.5')	EA		\$45,100.00	\$45,100.00	\$47,050.00	\$47,050.00
FEDESTRIAN SIGNAL (F&I) (LED- AS 6 \$560.00 \$3,360.00 \$1,450.00	75	650-1-311		AS	9	\$850.00	\$5,100.00	\$780.00	\$4,680.00
PEDESTRIAN SIGNAL (F&I) (LED- AS 6 \$560.00 \$470.00	92	650-1-511	.ळ	AS	0	\$1,500.00	\$3,000.00	\$1,450.00	\$2,900.00
FEDESTRIAN SIGNAL (F&I) (LED- AS	22	653-191	PEDESTRIAN SIGNAL (F&I) (LED- COUNTDOWN) (1 WAY)	AS	9	\$560.00	\$3,360.00	\$470.00	\$2,820.00
663-74-15 (F&I) (VIDEO) EA 4 \$6,805.00 \$27,220.00 \$6,485.00 665-13 (PEDESTRIAN DETECTOR (F&I)) EA 7 \$152.00 \$1,064.00 \$121.00 665-13 (DETECTOR WITH SIGN ONLY) AS 1 \$3,715.00 \$2,050.00 670-5-300 (INSTALL) AS 1 \$3,715.00 \$2,050.00 670-5-300 (INSTALL) AS 1 \$750.00 \$2,050.00 670-5-300 ATC CONTROLLER ASSEMBLY AS 1 \$750.00 \$7,200.00 \$5,425.00 670-5-400 ATC CONTROLLER WITH NAZTEC 980- EA 1 \$7,200.00 \$7,200.00 \$10,105.00 SYSTEM AUX (F&I) (UNINTERRUPTIBLE POWER EA 1 \$7,200.00 \$7,200.00 \$10,105.00	78	653-192	PEDESTRIAN SIGNAL (F&I) (LED- COUNTDOWN) (2 WAY)	AS	-	\$1,145.00	\$1,145.00	\$980.00	\$980.00
665-13 PEDESTRIAN DETECTOR (F&I) EA 7 \$152.00 \$1,064.00 \$121.00 670-5-300 TRAFFIC CONTROLLER ASSEMBLY (INSTALL) AS 1 \$3,715.00 \$2,050.00 670-5-300 (INSTALL) AS 1 \$750.00 \$750.00 \$5,425.00 670-5-400 ATC CONTROLLER AST,200.00 \$7,200.00 \$10,105.00 670-5-400 ATC CONTROLLER EA 1 \$7,200.00 \$10,105.00 685-106 SOURCE) SOURCE) \$10,105.00 \$10,105.00 \$10,105.00	62	663-74-15	ECTOR	EA	4	\$6,805.00	\$27,220.00	\$6,485.00	\$25,940.00
G70-5-300 TRAFFIC CONTROLLER ASSEMBLY (INSTALL) AS 1 \$3,715.00 \$2,050.00 TRAFFIC CONTROLLER ASSEMBLY (MODIFY) REPLACE EXIST. AS 1 \$750.00 \$750.00 \$5,425.00 670-5-400 ATC CONTROLLER. ATC CONTROLLER. EA 1 \$7,200.00 \$7,200.00 \$10,105.00 685-106 SOURCE) SOURCE) \$10,105.00 \$10,105.00 \$10,105.00	80	665-13	PEDESTRIAN DETECTOR (F&I) (DETECTOR WITH SIGN ONLY)	EA	7	\$152.00	\$1,064.00	\$121.00	\$847.00
TRAFFIC CONTROLLER ASSEMBLY (MODIFY) REPLACE EXIST. CONTROLLER WITH NAZTEC 980- 670-5-400 ATC CONTROLLER. SYSTEM AUX (F&I) (UNINTERRUPTIBLE POWER E85-106 SOURCE) **5,425.00 **5,425.00 **5,425.00 **1,500.00 **10,105.00 **10,105.00	8	670-5-300	TRAFFIC CONTROLLER ASSEMBLY (INSTALL)	AS	,	\$3,715.00	\$3,715.00	\$2,050.00	\$2,050.00
SYSTEM AUX (F&I) (UNINTERRUPTIBLE POWER EA 1 \$7,200.00 \$7,200.00 \$10,105.00 685-106 SOURCE)	82	670-5-400	TRAFFIC CONTROLLER ASSEMBLY (MODIFY) REPLACE EXIST. CONTROLLER WITH NAZTEC 980-ATC CONTROLLER.	AS	-	\$750.00	\$750.00	\$5,425.00	\$5,425.00
	83	685-106	SYSTEM AUX (F&I) (UNINTERRUPTIBLE POWER SOURCE)	EA	-	\$7,200.00	\$7,200.00	\$10,105.00	\$10,105.00

IFB #13-1121CD- 51st AVENUE EAST AT 15TH STREET EAST INTERSECTION IMPROVEMENTS

| Westra Construction | Superior Ashphalt | Superior Ashbhalt | Su

	Bid "A"	Bid "A" Based on Completion Time of 180 Calendar Days			1263 12th Ave. E. Palmetto, FL 34221	E. 1221	P.O Box 2489 Oneco, FL 34264	94
PAY ITEM NO.	FDOT ITEM NUMBER	DESCRIPTION	UNITS	ату.	BID PRICE PER UNIT	TOTAL BID PRICE	BID PRICE PER UNIT	TOTAL BID PRICE
84	690-10	TRAFFIC SIGNAL HEAD ASSEMBLY, REMOVAL	EA	80	\$20.00	\$160.00	\$26.35	\$210.80
82	690-20	SIGNAL PEDESTRIAN ASSEMBLY, REMOVE	EA	4	\$20.00	\$80.00	\$15.80	\$63.20
98	690-34-1	POLE REMOVAL -DEEP (DIRECT BURIAL)	EA	2	\$2,200.00	\$4,400.00	\$2,635.00	\$5,270.00
87	09-069	DETECTOR VEHICLE ASSEMBLY, REMOVE	EA	9	\$11.25	\$67.50	\$5.25	\$31.50
88	690-80	SPAN WIRE ASSEMBLY REMOVE	EA	1	\$290.00	\$290.00	\$265.00	\$265.00
68	06-069	REMOVE CONDUIT & CABLING	⊡	1	\$280.00	\$280.00	\$160.00	\$160.00
8	690-100	SIGNAL EQUIPMENT, MISCELLANEOUS REMOVE	Ē	-	\$310.00	\$310.00	\$210.00	\$210.00
9	699-1-1	INTERNALLY ILLUMINATED SIGN (F&I)	EA	4	\$2,535.00	\$10,140.00	\$2,395.00	\$9,580.00
92	783-1-421	ITS FO CABLE (RELOCATE) (UNDERGROUND) (2 TO 12)	F.	20	\$11.25	\$225.00	\$95.00	\$1,900.00
93	783-4-112	ITS CONDUIT (F&I) (UNDERGROUND)	Ŧ.	20	\$11.25	\$225.00	\$10.55	\$211.00
94	783-5-5	ITS PULL BOX FOR FIBER OPTIC CABLE, ADJUST AND MODIFY	EA	1	\$565.00	\$565.00	\$370.00	\$370.00
		SUBTOTAL (SIGNALIZATION LIGHTING ONLY)				\$165,076.80		\$165,786.40
		SIGNING AND PAVEMENT MARKING						
96	700-20-11	SINGLE POST SIGN (F&I) (< 12 SF)	AS	4	\$320.00	\$1,280.00	\$265.00	\$1,060.00
96	700-20-12	SINGLE POST SIGN (F&I) (12-20 SF)	AS	2	\$365.00	\$730.00	\$685.00	\$1,370.00
97	700-20-60	SINGLE POST SIGN (REMOVE)	AS	7	\$56.50	\$395.50	\$16.00	\$112.00

IFB #13-1121CD- 51st AVENUE EAST AT 15TH STREET EAST INTERSECTION IMPROVEMENTS

Westra Construction Superior Ashphali

	Bid "A"	n Time of 180			Westra Construction 1263 12th Ave. E.	ction E.	Superior Ashphalt P.O Box 2489	alt
PAY	\vdash	Calcular Days			BID PRICE 1	TOTAL BID	BID PRICE	TOTAL BID
NO.	NUMBER	DESCRIPTION	UNITS	QTY.	PER UNIT	PRICE	PER UNIT	PRICE
86	700-48-48	SIGN PANEL RELOCATE, 15 OR LESS	EA	2	\$84.50	\$169.00	\$80.00	\$160.00
66	706-3	RETRO-REFLECTIVE PAVEMENT MARKERS	EA	424	\$5.05	\$2,141.20	\$6.00	\$2,544.00
100	711-11-111	THERMOPLASTIC (STD., WHITE, SOLID, 6")	NM	1.014	\$5,325.00	\$5,399.55	\$5,260.00	\$5,333.64
101	711-11-122	THERMOPLASTIC (STD., WHITE, SOLID, 8")	LF	107	\$1.15	\$123.05	\$1.50	\$160.50
102	711-11-123	THERMOPLASTIC (STD.,WHITE, SOLID, 12")	LF	443	\$3.50	\$1,550.50	\$3.20	\$1,417.60
103	711-11-125	THERMOPLASTIC (STD., WHITE, SOLID, 24")	LF	124	\$7.90	\$979.60	\$6.35	\$787.40
104	711-11-151	THERMOPLASTIC (STD., WHITE, 2'- 4' SKIP & 6'-10' SKIP, 6")	LF	76	\$0.75	\$57.00	\$1.10	\$83.60
105	711-11-160	THERMOPLASTIC (STD., WHITE, MESSAGE) (ONLY)	EA	3	\$115.00	\$345.00	\$135.00	\$405.00
106	711-11-170	THERMOPLASTIC (STD., WHITE, ARROWS)	EA	23	\$79.00	\$1,817.00	\$80.00	\$1,840.00
107	711-11-211	THERMOPLASTIC (STD., YELLOW, SOLID, 6")	NM	1.054	\$5,350.00	\$5,638.90	\$5,260.00	\$5,544.04
108	711-11-224	THERMOPLASTIC (STD., YELLOW, SOLID, 18")	F.	516	\$5.65	\$2,915.40	\$4.75	\$2,451.00
109	711-11-231	THERMOPLASTIC (STD., YELLOW, 10'-30' SKIP, 6")	GM	0.125	\$3,430.00	\$428.75	\$200.00	\$25.00
		SUBTOTAL (SIGNING AND PAVEMENT MARKING ONLY)				\$23,970.45		\$23,293.78
		55' PEDESTRIAN BRIDGE						
110	120-1	REGULAR EXCAVATION (FOUNDATION)	CY	59	\$16.00	\$464.00	\$16.00	\$464.00
111	0400-4-5	CONCRETE CLASS IV 5500 PSI (FOUNDATION)	ç	14	\$775.00	\$10,850.00	\$725.00	\$10,150.00
		The state of the s				Company of the Compan		

IFB #13-1121CD- 51st AVENUE EAST AT 15TH STREET FAST INTERSECTION IMPROVEMENTS	AST INTERSECTION IM	PROVEMENTS
Bid "A" Based on Completion Time of 180	Westra Construction 1263 12th Ave. E.	Superior Ashphalt P.O Box 2489

PAY INDEXENDENTIFEM DESCRIPTION UNITS QTY. BID PRICE PER UNIT TOTAL BID PRICE PER UNIT PRICE PER UNIT TOTAL BID PRICE PER UNIT TOTAL BID PRICE PER UNIT TOTAL BID PRICE PER UNIT TOTAL BID PRICE PER UNIT TOTAL BID PER UNIT TOTAL BID PRICE PER UNIT TOTAL BID PRICE PER UNIT TOTAL BID PRICE PER UNIT TOTAL PRICE PER UNIT TOTAL PRICE PER UNIT TOTAL PRICE PER UNIT TOTAL BID PRICE PER UNIT TOTAL BID PRICE PER UNIT TOTAL PRICE PER UNIT			Calendar Days			Palmetto, FL 34221	221	Oneco, FL 34264	34
REINFORCING STEEL-	PAY ITEM NO.	FDOT ITEM NUMBER		UNITS	ату.	BID PRICE PER UNIT	TOTAL BID PRICE	BID PRICE PER UNIT	TOTAL BID PRICE
NC-031 RIPRAP, SAND CEMENT 4" CY 10 \$465.00 \$4,650.00 \$450.00	112	0415-1-5	REINFORCING STEEL- SUBSTRUCTURE (FOUNDATION)	LB	1,124	\$0.85		\$0.80	\$899.20
MC-031 ALUMINUM BRIDGE EA 1 \$42,000.00 \$42,000.00 \$40,100.00 \$ SUBTOTAL (55' PEDESTRIAN BRIDGE ONLY) BRIDGE ONLY) \$58,919.40 \$58,919.40 \$120,000.00	113	0530-1		CY	10	\$465.00	\$4,650.00	\$450.00	\$4,500.00
OTAL (55' PEDESTRIAN \$58,919.40 GE ONLY) \$120,000.00 RETIONARY WORK (USED 'WITH COUNTY APPROVAL) \$120,000.00 L PRICE FOR BID "A" - Based impletion Time of 180 Calendar \$1,932,641.76	114	MC-031	ALUMINUM BRIDGE	EA	-	\$42,000.00	\$42,000.00	\$40,100.00	\$40,100.00
RETIONARY WORK (USED WITH COUNTY APPROVAL) L. PRICE FOR BID "A" - Based mpletion Time of 180 Calendar \$1,932,641.76			SUBTOTAL (55' PEDESTRIAN BRIDGE ONLY)				\$58,919.40		\$56,113.20
L PRICE FOR BID "A" - Based smpletion Time of 180 Calendar			DISCRETIONARY WORK (USED ONLY WITH COUNTY APPROVAL)				\$120,000.00		\$120,000.00
			L PRICE FOR BID mpletion Time of				\$1,932,641.76		\$2,095,137.01

Keyed and Checked By

8/9/2013

Date

Chris Daley-CPPB, Contract Specialsit

IFB #13-1121CD- 51st AVENUE EAST AT 15TH STREET EAST INTERSECTION IMPROVEMENTS

Gator Grading & Paving Superior Ashphalt

Gator Grading & Paving Superior Ashphalt

P.O Box 2489

	Biq "B	Bid "B" Based on Completion Time of 150 Calendar Days			2704 105th St East Palmetto, FL 34221	ast 221	P.O Box 2489 Oneco, FL 34264	4
PAY ITEM NO.	FDOT ITEM NUMBER	DESCRIPTION	UNITS	ату.	BID PRICE PER UNIT	TOTAL BID PRICE	BID PRICE PER UNIT	TOTAL BID PRICE
		ROADWORK		100 March 100 Ma				
٢	101-1	MOBILIZATION	ST	1	\$122,000.00	\$122,000.00	\$252,420.00	\$252,420.00
2	102-1	MAINTENANCE OF TRAFFIC	ST	-	\$49,400.00	\$49,400.00	\$132,500.00	\$132,500.00
က	104-10-3	SEDIMENT BARRIER (INCL'S SILT FENCE AND SYNTHETIC BALES)	Ħ	0009	\$1.25	\$7,500.00	\$1.70	\$10,200.00
4	104-11	FLOATING TURBIDITY BARRIER	Ħ.	06	\$19.00	\$1,710.00	\$27.40	\$2,466.00
w	110-1-1	CLEARING & GRUBBING	AC	5	\$17,000.00	\$85,000.00	\$16,790.00	\$83,950.00
9	110-4	REMOVAL OF EXISTING CONC. PAVEMENT (EXIST. SIDEWALK & CONC. DRIVES)	SY	360	\$11.00	\$3,960.00	\$12.45	\$4,482.00
7	110-7-1	MAILBOX, F&I SINGLE	EA	7	\$200.00	\$1,400.00	\$350.00	\$2,450.00
80	120-1	REGULAR EXCAVATION (PINE ST. EXIST. BASE AND SUB-BASE TO BE REMOVED)	Cζ	300	\$22.00	\$6,600.00	\$24.90	\$7,470.00
6	120-1	REGULAR EXCAVATION (INCLUDES PONDS)	ζ	4731	\$12.00	\$56,772.00	\$33.75	\$159,671.25
10	120-5	EMBANKMENT (EXISTING PINE STREET)	ò	300	\$5.00	\$1,500.00	\$49.10	\$14,730.00
11	120-6	EMBANKMENT (REGULAR)	ç	2400	\$10.00	\$24,000.00	\$36.50	\$87,600.00
12	285-706	6" OF OPTIONAL BASE GROUP 4	SY	1361	\$17.00	\$23,137.00	\$21.80	\$29,669.80
13	285-709	10" OF OPTIONAL BASE GROUP 9	SY	6203	\$26.00	\$161,278.00	\$30.25	\$187,640.75
41	327-70-1	MILLING EXIST ASPH PAVT, 1 " AVG DEPTH	SY	5352	\$3.00	\$16,056.00	\$2.95	\$15,788.40

IFB #13-1121CD- 51st AVENUE EAST AT 15TH STREET EAST INTERSECTION IMPROVEMENTS

Gator Grading & Paving | Superior Ashphalt |
| Gator Grading & Paving | Superior Ashphalt |
| R.O. Box 2489 |
| R.O. Box 2480 |
|

	Bid "B"	Bid "B" Based on Completion Time of 150 Calendar Days			2704 105th St East Palmetto, FL 34221	East 1221	P.O Box 2489 Oneco, FL 34264	54
PAY ITEM NO.	FDOT ITEM NUMBER	DESCRIPTION	UNITS	QTY.	BID PRICE PER UNIT	TOTAL BID PRICE	BID PRICE PER UNIT	TOTAL BID PRICE
15	MC-334	2" TYPE S-I ASPHALT	Z	735	\$100.00	\$73,500.00	\$99.50	\$73,132.50
16	MC-337	1" TYPE S-III ASPHALT	Z F	699	\$115.00	\$76,935.00	\$111.00	\$74,259.00
17	MC-001	12" TYPE B STABILIZATION (LBR 60)	SY	6563	\$3.55	\$23,298.65	\$17.90	\$117,477.70
18	MC-002	6" OF STABILIZED SUB-BASE-NEW PINE ST. (LBR 60)	SY	1453	\$3.80	\$5,521.40	\$10.60	\$15,401.80
19	MC-003	GRATE INLET MC 201.1 202.4	EA	4	\$2,100.00	\$8,400.00	\$2,475.00	\$9,900.00
20	MC-004	THROAT INLET MC STD. 202.1,202.3,202.4	EA	-	\$2,950.00	\$2,950.00	\$3,670.00	\$3,670.00
21	MC-005	JUNCTION BOX. BLOCK BOX -MC STD. 202.1, 202.4,203.1	EA	-	\$2,745.00	\$2,745.00	\$3,054.00	\$3,054.00
22	MC-006	INLETS (CURB) -MC STD. 202.1, 202.2,202.3,202.4,203.2	EA	ro	\$3,000.00	\$15,000.00	\$3,047.00	\$15,235.00
23	MC-007	INLETS (CURB) -MC STD. 202.1, 202.2,202.4,203.2	EA	7	\$2,800.00	\$5,600.00	\$2,770.00	\$5,540.00
24	MC-008	JUNCTION BOX. BLOCK BOX- MC STD. 202.1, 202.5,203.1	EA	4	\$2,900.00	\$11,600.00	\$4,430.00	\$17,720.00
25	MC-009	GRATE INLET-PROP. CONCRT. BLOCK BOX -MC STD. 202.1, 202.5	EA	∞	\$2,200.00	\$17,600.00	\$2,798.00	\$22,384.00
26	0400-1-2	ENDWALL 15" PIPE	CV	, -	\$3,000.00	\$3,000.00	\$1,102.00	\$1,102.00
27	0425 -1563	INLETS, DT BOT, TYPE F, J BOTTOM <10'	EA	-	\$5,000.00	\$5,000.00	\$5,653.00	\$5,653.00
28	0425- 2 91	MANHOLE, J-8, <10'	EA	-	\$4,200.00	\$4,200.00	\$6,301.00	\$6,301.00

TABULATION IFB #13-1121CD- 51st AVENUE EAST AT 15TH STREET EAST INTERSECTION IMPROVEMENTS

TABULATION

IFB #13-1121CD- 51st AVENUE EAST AT 15TH STREET EAST INTERSECTION IMPROVEMENTS

[Gator Grading & Paving | Superior Ashphalt | P.O. Box 2489

	Bid "B"	Bid "B" Based on Completion Time of 150 Calendar Days			2704 105th St East Palmetto, FL 34221	ast 221	P.O Box 2489 Oneco, FL 34264	4
PAY ITEM NO.	FDOT ITEM NUMBER	DESCRIPTION	UNITS	ату.	BID PRICE PER UNIT	TOTAL BID PRICE	BID PRICE PER UNIT	TOTAL BID PRICE
43	530-3-3	RIP RAP-RUBBLE, BANK AND SHORE	T	3	\$1,850.00	\$5,550.00	\$550.00	\$1,650.00
44	536-1-2	GUARDRAIL	J.	19	\$675.00	\$12,825.00	\$95.00	\$1,805.00
45	570-1-2	PERFORMANCE TURF (BAHIA SOD)	SY	5592.15	\$2.00	\$11,184.30	\$3.50	\$19,572.53
46	MC-011	MIAMI CURB&GUTTER	F	153	\$18.00	\$2,754.00	\$13.70	\$2,096.10
		SUBTOTAL (ROADWORK ONLY)				\$1,117,345.35		\$1,671,720.13
		PROPOSED 6" WATERLINE RELOCATION FOR ROAD PROJECT						
47	MC-012	6" DI WATERLINE (CL 350) DIRECT BURY	LF	265	\$35.00	\$9,275.00	\$41.30	\$10,944.50
48	MC-013	6" X 24" TAPPING SLEEVE WITH VALVE	EA	1	\$2,950.00	\$2,950.00	\$4,945.00	\$4,945.00
49	MC-014	DI FITTINGS	LB	250	\$22.00	\$5,500.00	\$6.50	\$1,625.00
90	MC-015	REPLACE WATER SERVICE(SINGLE, LONG)	Ŧ	9	\$1,400.00	\$8,400.00	\$2,320.00	\$13,920.00
51	MC-016	REPLACE WATER SERVICE(SINGLE, SHORT)	F	8	\$1,355.00	\$10,840.00	\$1,685.00	\$13,480.00
52	MC-017	RELOCATE 2" HDPE WATERLINE (C 906) DR 9	Ŀ	30	\$65.00	\$1,950.00	\$37.35	\$1,120.50
23	MC-018	ADJUST VALVE BOX	EA	7	\$510.00	\$3,570.00	\$425.00	\$2,975.00
54	MC-019	RELOCATE/ADJUST METER BOX	EA	3	\$835.00	\$2,505.00	\$375.00	\$1,125.00
22	MC-020	REMOVE FIRE HYDRANT ASSEMBLY	EA	-	\$1,425.00	\$1,425.00	\$360.00	\$360.00
56	MC-021	FIRE HYDRANT ASSEMBLY	EA	-	\$5,600.00	\$5,600.00	\$4,865.00	\$4,865.00

TABULATION
IFB #13-1121CD- 51st AVENUE EAST AT 15TH STREET EAST INTERSECTION IMPROVEMENTS

[Gator Grading & Paving Superior Ashphalt P O Box 2489]

	Bid "B"	Bid "B" Based on Completion Time of 150 Calendar Days			2704 105th St East Palmetto, FL 34221	ast 221	P.O Box 2489 Oneco, FL 34264	74
PAY ITEM NO.	FDOT ITEM NUMBER	DESCRIPTION	UNITS	QTY.	BID PRICE PER UNIT	TOTAL BID PRICE	BID PRICE PER UNIT	TOTAL BID PRICE
22	MC-022	REMOVE 6" WATERLINE	LF	260	\$5.50	\$1,430.00	\$12.70	\$3,302.00
28	MC-023	6" HDPE FORCE MAIN AND BYPASS (C 906) DR 11	LF	270	\$30.00	\$8,100.00	\$29.65	\$8,005.50
29	MC-024	RELOCATE 6" PVC SEWER SERVICE LATERALS	LF	150	\$15.00	\$2,250.00	\$36.20	\$5,430.00
09	MC-025	ADJUST MANHOLE LID & COVER	EA	8	\$725.00	\$5,800.00	\$665.00	\$5,320.00
61	MC-026	CONNECT TO EXISTING WATERLINE	EA	1	\$715.00	\$715.00	\$656.00	\$656.00
62	MC-027	ARV IN MANHOLE (SANITARY)	EA	-	\$3,300.00	\$3,300.00	\$3,980.00	\$3,980.00
63	MC-028	6" GATE VALVE W/BOX	EA	1	\$1,570.00	\$1,570.00	\$1,105.00	\$1,105.00
64	MC-029	RELOCATE LIFT STATION ELECT. PANEL & SERVICE	rs	1	\$4,300.00	\$4,300.00	\$15,065.00	\$15,065.00
		SUBTOTAL (PROPOSED 6" WATERLINE RELOCATION FOR ROAD PROJECT ONLY)				\$79,480.00		\$98,223.50
		SIGNALIZATION						
65	555-1-1	DIRECTIONAL BORE (LESS THAN 6")	F	128	\$25.00	\$3,200.00	\$18.55	\$2,374.40
99	630-1-12	CONDUIT (F & I) (UNDERGROUND)	LF.	442	\$6.00	\$2,652.00	\$4.75	\$2,099.50
67	632-7-1	CABLE, SIGNAL (F&I)	Ē	-	\$4,950.00	\$4,950.00	\$4,105.00	\$4,105.00
89	635-1-11	PULL & JUNCTION BOXES (F&I) (PULL BOX)	EA	12	\$710.00	\$8,520.00	\$315.00	\$3,780.00
69	639-1-22	ELECTRICAL POWER SERVICE (UNDERGROUND)	AS	-	\$3,200.00	\$3,200.00	\$790.00	\$790.00
20	639-2-1	ELECTRICAL SERVICE WIRE (F&I)	LF.	415	\$1.55	\$643.25	\$1.60	\$664.00

64	TOTAL BID PRICE	\$710.00	\$5,010.00	\$25,185.00	\$47,050.00	\$4,680.00	\$2,900.00	\$2,820.00	\$980.00	\$25,940.00	\$847.00	\$2,050.00	\$5,425.00	\$10,105.00
P.O Box 2489 Oneco, FL 34264	BID PRICE PER UNIT	\$710.00	\$835.00	\$25,185.00	\$47,050.00	\$780.00	\$1,450.00	\$470.00	\$980.00	\$6,485.00	\$121.00	\$2,050.00	\$5,425.00	\$10,105.00
ast 221	TOTAL BID PRICE	\$800.00	\$5,520.00	\$25,795.00	\$49,130.00	\$5,580.00	\$3,300.00	\$3,660.00	\$1,250.00	\$29,660.00	\$1,155.00	\$4,100.00	\$800.00	\$7,900.00
2704 105th St East Palmetto, FL 34221	BID PRICE PER UNIT	\$800.00	\$920.00	\$25,795.00	\$49,130.00	\$930.00	\$1,650.00	\$610.00	\$1,250.00	\$7,415.00	\$165.00	\$4,100.00	\$800.00	\$7,900.00
	QTY.	-	9	τ-	τ-	9	7	9	Ψ-	4	7	₩.		-
	UNITS	EA	EA	EA	EA	AS	AS	AS	AS	EA	EA	AS	AS	EA
Bid "B" Based on Completion Time of 150 Calendar Days	DESCRIPTION	PRESTRESSED CONCRETE POLE (F&I) (TYPE P-11 SRV. POLE.)	SIGNAL POLE, PEDESTAL (F&I)	MAST ARM (F&I) (WS -130) (SING. ARM) (W/O LUM.) (40')	MAST ARM (F&I)(WS -130)(DBL. ARM) (W/O LUM.)(36-70.5')	TRAFFIC SIGNAL (F&I) (3 SECT) (1 WAY) (STANDARD)	TRAFFIC SIGNAL (F&I) (5 SECT) (1 WAY) (STANDARD)	PEDESTRIAN SIGNAL (F&I) (LED- COUNTDOWN) (1 WAY)	PEDESTRIAN SIGNAL (F&I) (LED- COUNTDOWN) (2 WAY)	VEHICLE DETECTOR ASSEMBLIES (F&I) (VIDEO)	PEDESTRIAN DETECTOR (F&I) (DETECTOR WITH SIGN ONLY)	TRAFFIC CONTROLLER ASSEMBLY (INSTALL)	TRAFFIC CONTROLLER ASSEMBLY (MODIFY) REPLACE EXIST. CONTROLLER WITH NAZTEC 980-ATC CONTROLLER.	SYSTEM AUX (F&I) (UNINTERRUPTIBLE POWER SOURCE)
Bid "B"	FDOT ITEM NUMBER	641-2-12	646-1-11	649-31-202	649-31-213	650-1-311	650-1-511	653-191	653-192	663-74-15	665-13	670-5-300	670-5-400	685-106
	PAY ITEM NO.	1.7	72	73	74	75	92	77	78	79	80	81	82	83

TABULATION
IFB #13-1121CD- 51st AVENUE EAST AT 15TH STREET EAST INTERSECTION IMPROVEMENTS

| Gator Grading & Paving | Superior Ashphalt

	Bid "B"	Bid "B" Based on Completion Time of 150 Calendar Days			Gator Grading & Paving 2704 105th St East Palmetto, FL 34221	k Paving East 1221	Superior Ashphalt P.O Box 2489 Oneco, FL 34264	ait 74
PAY ITEM NO.	FDOT ITEM NUMBER	DESCRIPTION	UNITS	ату.	BID PRICE PER UNIT	TOTAL BID PRICE	BID PRICE PER UNIT	TOTAL BID PRICE
84	690-10	TRAFFIC SIGNAL HEAD ASSEMBLY, REMOVAL	EA	8	\$18.00	\$144.00	\$26.35	\$210.80
85	690-20	SIGNAL PEDESTRIAN ASSEMBLY, REMOVE	EA	4	\$18.00	\$72.00	\$15.80	\$63.20
98	690-34-1	POLE REMOVAL -DEEP (DIRECT BURIAL)	EA	2	\$2,400.00	\$4,800.00	\$2,635.00	\$5,270.00
87	09-069	DETECTOR VEHICLE ASSEMBLY, REMOVE	EA	9	\$13.00	\$78.00	\$5.25	\$31.50
88	08-069	SPAN WIRE ASSEMBLY REMOVE	EA	1	\$310.00	\$310.00	\$265.00	\$265.00
88	06-069	REMOVE CONDUIT & CABLING	<u>R</u>	-	\$310.00	\$310.00	\$160.00	\$160.00
06	690-100	SIGNAL EQUIPMENT, MISCELLANEOUS REMOVE	₫	-	\$340.00	\$340.00	\$210.00	\$210.00
91	699-1-1	INTERNALLY ILLUMINATED SIGN (F&I)	EA	4	\$2,765.00	\$11,060.00	\$2,395.00	\$9,580.00
92	783-1-421	ITS FO CABLE (RELOCATE) (UNDERGROUND) (2 TO 12)	5	20	\$13.00	\$260.00	\$95.00	\$1,900.00
63	783-4-112	ITS CONDUIT (F&I) (UNDERGROUND)	5	20	\$13.00	\$260.00	\$10.55	\$211.00
94	783-5-5	ITS PULL BOX FOR FIBER OPTIC CABLE, ADJUST AND MODIFY	EA	-	\$615.00	\$615.00	\$370.00	\$370.00
		SUBTOTAL (SIGNALIZATION LIGHTING ONLY)				\$180,064.25		\$165,786.40
		SIGNING AND PAVEMENT MARKING						
95	700-20-11	SINGLE POST SIGN (F&I) (< 12 SF)	AS	4	\$350.00	\$1,400.00	\$265.00	\$1,060.00
96	700-20-12	SINGLE POST SIGN (F&I) (12-20 SF)	AS	2	\$1,535.00	\$3,070.00	\$685.00	\$1,370.00
97	700-20-60	SINGLE POST SIGN (REMOVE)	AS	7	\$6.00	\$42.00	\$16.00	\$112.00

TABULATION
IFB #13-1121CD- 51st AVENUE EAST AT 15TH STREET EAST INTERSECTION IMPROVEMENTS

[Gator Grading & Paving Superior Ashphalt P.O. Box 2489]

	"Bid "B	Bid "B" Based on Completion Time of 150 Calendar Days			2704 105th St East Palmetto, FL 34221	ast 221	P.O Box 2489 Oneco, FL 34264	4
PAY ITEM NO.	FDOT ITEM NUMBER	DESCRIPTION	UNITS	ату.	BID PRICE PER UNIT	TOTAL BID PRICE	BID PRICE PER UNIT	TOTAL BID PRICE
86	700-48-48	SIGN PANEL RELOCATE, 15 OR LESS	EA	2	\$275.00	\$550.00	\$80.00	\$160.00
66	706-3	RETRO-REFLECTIVE PAVEMENT MARKERS	EA	424	\$5.00	\$2,120.00	\$6.00	\$2,544.00
100	711-11-111	THERMOPLASTIC (STD., WHITE, SOLID, 6")	NM	1.014	\$6,915.00	\$7,011.81	\$5,260.00	\$5,333.64
101	711-11-122	THERMOPLASTIC (STD., WHITE, SOLID, 8")	-F	107	\$1.70	\$181.90	\$1.50	\$160.50
102	711-11-123	THERMOPLASTIC (STD.,WHITE, SOLID, 12")	Ä	443	\$3.00	\$1,329.00	\$3.20	\$1,417.60
103	711-11-125	THERMOPLASTIC (STD., WHITE, SOLID, 24")	Ä	124	\$7.00	\$868.00	\$6.35	\$787.40
104	711-11-151	THERMOPLASTIC (STD., WHITE, 2'- 4' SKIP & 6'-10' SKIP, 6")	LF.	76	\$1.80	\$136.80	\$1.10	\$83.60
105	711-11-160	THERMOPLASTIC (STD., WHITE, MESSAGE) (ONLY)	EA	ဗ	\$200.00	\$600.00	\$135.00	\$405.00
106	711-11-170	THERMOPLASTIC (STD., WHITE, ARROWS)	EA	23	\$100.00	\$2,300.00	\$80.00	\$1,840.00
107	711-11-211	THERMOPLASTIC (STD., YELLOW, SOLID, 6")	M	1.054	\$8,200.00	\$8,642.80	\$5,260.00	\$5,544.04
108	711-11-224	THERMOPLASTIC (STD., YELLOW, SOLID, 18")	Ħ	516	\$4.90	\$2,528.40	\$4.75	\$2,451.00
109	711-11-231	THERMOPLASTIC (STD., YELLOW, 10'-30' SKIP, 6")	GM	0.125	\$2,210.00	\$276.25	\$200.00	\$25.00
		SUBTOTAL (SIGNING AND PAVEMENT MARKING ONLY)				\$31,056.96		\$23,293.78
		55' PEDESTRIAN BRIDGE						
110	120-1	REGULAR EXCAVATION (FOUNDATION)	ò	59	\$19.00	\$551.00	\$16.00	\$464.00
111	0400-4-5	CONCRETE CLASS IV 5500 PSI (FOUNDATION)	C	14	\$840.00	\$11,760.00	\$725.00	\$10,150.00

TABULATION		
IFB #13-1121CD- 51st AVENUE EAST AT 15TH STREET EAST INTERSECTION IMPROVEMENTS	EAST INTERSECTION II	MPROVEMENTS
	Gator Grading & Paving	Superior Ashphalt
Bid "B" Based on Completion Time of 150	2704 105th St East	P.O Box 2489

	Bid "B" E	Bid "B" Based on Completion Time of 150 Calendar Days			2704 105th St East Palmetto, FL 34221	ast 221	P.O Box 2489 Oneco, FL 34264	74
PAY ITEM NO.	FDOT ITEM NUMBER	DESCRIPTION	UNITS	ату.	BID PRICE PER UNIT	TOTAL BID PRICE	BID PRICE PER UNIT	TOTAL BID PRICE
112	0415-1-5	REINFORCING STEEL- SUBSTRUCTURE (FOUNDATION)	RJ LB	1,124	\$1.00	\$1,124.00	\$0.80	\$899.20
113	0530-1	RIPRAP, SAND CEMENT 4"	C	10	\$520.00	\$5,200.00	\$450.00	\$4,500.00
114	MC-031	ALUMINUM BRIDGE	EA	1	\$46,700.00	\$46,700.00	\$40,100.00	\$40,100.00
		SUBTOTAL (55' PEDESTRIAN BRIDGE ONLY)				\$65,335.00		\$56,113.20
		DISCRETIONARY WORK (USED ONLY WITH COUNTY APPROVAL)				\$120,000.00		\$120,000.00
		TOTAL PRICE FOR BID "B" - Based on Completion Time of 150 Calendar Days				\$1,593,281.56		\$2,135,137.01

Keyed and Checked By

8/9/2013

Date

Chris Daley-CPPB, Contract Specialsit